ot (600) AtRss

o

: (610) A4

Al
T

o]
=

Ol

:(661) JIEFIEIof

Al

—

A

5] 1 (02) JIetA e

Ly
0

1
0

i

—— 55 wae | A8 | 228 & g 0l =3
2|8 Mg = A
=
84,444,970 | 83,657,950 787,020
600
UL 42,369,060 | 42,333,040 36,020
610
e+ 40,583,630 | 40,547,610 36,020
661
JIEr 11,914,382 | 11,878,362 36,020
248,908 212,888 36,020 | [ 8t==1t ]
® WOIBA Z2BA 22 25,000
O 50mm 2 H(5,000,0008 x 108 )-2( & (5,000,0008 x58) 25,000
© MOIB4 S4IA Aa2ga 10,960
O 50mm Z23(2,192,000x 10& )-21 & (2,192,000 %58 ) = 10,960
® THOIB4 24TAl 228
23 (4,0009 x 108 x35)-7| (4,0008 x 58 x3&) = 60




# 0 (100) =g g (170) A== Mg : (175) SAREE=Y 2 (09) JESAFES+Y (ol @ &9

it = =l = : - -
2 [ @ A9 = wew | Hudk | Fau S SRR L E
100
K== 40l 42,075,910 | 41,324,910 751,000
170
=R 42,075,910 | 41,324,910 751,000
175
SAREI=E 17,499,360 | 16.748.360 751,000
09
JEIBAREE4 17,499,360 16,748,360 751,000 | [ Gt==1t ]
@ MXSHAF 65142 H HFAMA(BLL 2H3)
751,000,0008 = 751,000

—




Xl of & A
B (700) AZHIE & : (710) AeblE HE : (714) 2 = (101) el T}
It = pli =] a _
_ o & o 2 5
2|2t |ug| 2 ol & o | TEA
g 7
84,444,970 83,657,950 787,020
700
At HI 24,834,670 24,644,669 £9,999
710
= 22,698,151 22,709,150 £.10,998
714
24| 1,061,948 1,089,287 £27,339
100
gEEg 835,231 817,660 17,571
101
el 835,231 817,660 17,571
786,206 768,725 17,571 |08 RIAAZIZNE

(99,520 x 7% x 8L )-J| (95,360 x 7 x8Y) =

H(149,280% x 78 x2.52 x 128)-

JIE(146,5009 x 7H x 2 52 x 128)

8,878

6,789

566

233

584




AN & 0 & A

1 (700) AR B (710) 2AHIB HE : (714) 2AHY) = 1 (101) Q12 ]
i =S o oa e |0 R o s vl 2
2B S = Colo oo oW | FEA = =
RETEErS
AE (18,8008 x7H x28AI2Hx 12€)-J1 = (18,5008 x 7H x 28 Al 2t x 12€)
= 706
o oo s LoaEdQuREE 612
O 2ogz=ga
AH (338,023,000 4.5%) -2 3 (332,373,000 x4 5%) = 255
O FOAAPEDCD
ZE(338,023,000x2.095%}-71 & (332,373, 000& x 2 G45%) = 235
O Lom| QLR
AA(10,124,0002 x6.655%)-2 & (9,789,000& x6.55%) = 22
© MNEE, DeEs 587
R EEE
A A (338,023,0009 x3.2%)-71 & (332,373, 000& x3.1%) = 513
O N1BH
%E‘(SSB,OES,OOO%X1.3%)—3|§(332,373,000%><1.3%) = 74
[QET 24T
© slazzaY o 6,573
O =2
27(2,703,0008 x 62 x 128 )-71E (2,631,3009 x 6% x 128) =
5,227
O ARF I
217 (194,680,8008 x 1/12)-71 = (189,453,600 x 1/12) 43




A & of & A
T (700) AlRIHIE & @ (710) QHIB Mg : (714) Y] = : (101) Q12| (e BT
=2 Pl : p—~ -
o = oo oo | B3 o o & e o x
i el = o & o] FE5 A
O onsg
207 (90, 4402 x 62 x 82 )-7| 2 (96,7742 x 68 x8L) = 128
O BYagay
B (149, 1608 x62 x2.5¢ x 128)-71(146,5008 x62 x2 52 x 128)
SJET =L PN
X (18,6502 x 62 x 28A12¢ x 128)-7| = (18,5008 x 6% x 28A12F x 12&) .
@ 2oz, IoAY - BINQYREE 579
O 203
A (292,042,0008 x 4.5%)-71 = (284,449, 0008 x4.5%) = 3
O =oAL
25 (292,042,000 x 2.945%)-2| & (284,449,000& x 2.945%) = 203
O IR
A (8,600,6308 x6.55%)-21 & (8,378,000€! x6.55%) = 15
© MUEHE, IRPEE $EH3 342
O MEEE
2R (292,042, 0008 x 3. 1%)-71 % (284,449,009 x3.1%) = 236
O DEREE
215 (292,042, 0008 x 1.4%)-7| & (284,449,00080 x 1.4%) = 106




AN = of & A

2t . (700) ArIHIS g (710) 2QHE Mg (714) 2HH| S (201) der2ddl CERE-L
) 5 | A = 3]
. : ol & o = ' £k E pli =
SEIEE = o &4 o | FIA
200
ZgZHl 226,717 271,627 A44,910
201
SRS H| 103,217 126,627 223,410
29,090 40,500 A11,410 |01 AL 22l

[#0/7 A4

® ZHE Mol ses-0aa2
ZAF(2,500,000& )-21H(10,500,0008) = 28,000

AE(9,240,000) x 141 )}-J1H (10,000,0008 x 14}) = AT60
(&7 241
@ ELE Holf$
B E (35,0008 x 1508 )-I1H (35,0008 x2008) = 21,750

® Hi-EHEE (s, atd) I8 E2e Y »

25 (262,5000 x 290 4 x 128)-21 = (300,000 x 204 & x 128) = 500
Pay

4,127 86,127 A12,000 |02 ES3S24HI

/_\.12,000




Al

£ 0l

Al

A

B (700) AFRIHIS 8 (710) F2HIS Hg : (714) @Y S : (206) W2l (o9 )
! = 2 H = 5 i
. Pooon 2 b A =
2= [Me = ol o & o FIX < =
206
HEH| 123,500 145,000 A21,500
123,500 145,000 A21,500 [01 LU HI
[§l0]7 HEW]
O gog 2 9=
2 & (42,750,0008)-J1 = (62,750,0008!) =A20,000
[AAR HED]
® St4EEEL2 I (HNEEHQ 6F)
23 (28,500,0002 x 141)-7(Z(30,000,0008 x 141) = A1,500
717
= - 42 Al 50,000 25,000 25,000
200
201 24| 50,000 25,000 25,000
231
Al TAH| 50,000 25,000 25,000
50,000 25,000 25,000 | (31224
® THOIExa 243 AHH| 25,000
O 50mm 2 (5,000,0009 x 10 )-J| & (5,000,000% x58) = 25,000




A & 0o & A

o (700) ADIHIE 8 @ (710) 2B HIE : (751) Lerzely| = : (201) LRSI P
L = o o o | g1 a_ 3 o = 9 %
SEEEN B R s -
751
ol B | Y| 2,423,691 2,432,351 28,660
200
22y 392,836 401,496 AB,660
201
UHS S 319,876 328,296 A8,420
300,756 300,176 ~8.420 |01 Al2z 2l
[Gl2=1t]

® HXLZE 0BT A (0R)-IIH(20,000& x308]) = 42600

® ZEiH Ed § 424 25724

ZHE(0&)-213 (50,0008 x3&F x 108]) = A1,500
® SRV At DR
2= (3,000,0002 )-21H(350,000& x 18%) = A3,300

® 2ot ME(2E,93)20 JdHEI +=

2 (20,050,000% x 141)-21F(21,050,000& x 141) = A1,000

O it ZE(1,440,0008)-J13 (1,920,0008) =  A480

[2E 1]

© EAEEIN=3H| A H(2,160,0008 )-21F(2,400,0008) = 2240




A = 0 & A

o (700) AFHIE 8 (710) UAHIE HIE @ (751) ekl 2 : (201) Yur2AH| (sl A
i = 7 = a2 3 ) ]
off &F oM = & = p/! =
o|e (e s | o & o 7 sl B N
© SZH(S20AbI)
243 (2,700,0008)-71 = (3,000,0008) =  A300
202
oA 55,920 56,160 A240
55,920 56,160 A240 [01 2Ll
{AA 2]
® J|=2REXNL
AH(5,520,0008) -JI&(5,760,0008) = A240
780
Sl 21,800 20,800 1,000
782
|l aman 21,800 20,800 1,000
758
Mg am s 21,800 20,800 1,000
21,800 20,800 1,000 [[o=2 &7
© 222X FEE PUNIM w22
218 (16,000, 000 x 141)-7| & (15,000,000& x 1&1) = 1,000




N s o & A
2 (200) REHXE & (230) RERAHS HE : (234) PEE S 1 (401) AlEHIZLOH (©9 : HH)
3 2 i Bl 2 g
- o oo o = & & 7 &
g | = W e o FIA l
200
RHEHX S 59,810,300 | 59,013,281 797,019
230
SEAHS 30,162,814 | 29,074,320 188,494
234
it 5,869,260 | 5,492,100 377, 160
401
B = 5,869,260 | 5,492,100 377, 160
5,832,000 | 5,457,000 375,000 |01 Al&H]
(20172 24 9]
® GIS GIOIEIHOIA 2% B 25,000,0008 x 104 = 25,000

23 (250,000 x 3,200m)-2| & (250,000 x 2,400m) = 200,000
© ZHUR ot ELIAM
A3 (25,0009 x6,000m)-21& (25,000% x 4,000m) = 50,000

[2F7 2A4n]

® ZH o2 N2 (EEF)SAM
213 (800,000& x 500m)-2| = (800,000& % 375m} = 100,000




2 0 (200) HEHRE

Xl

g @ (230) REANMAS

E 0

H& : (234) 25

& A

= : (401) AEHI2LL00I

(c9l : ®H)
n l 2l 2| =z s
H [=] m
HELE = WER g pu| 22 ¢ = . v
37,260 35,100 2,160 (08 A& OHH|
[AAR A& 0]
© 232 Gt+E L PEE ZHISM
2 H (800,000,000@ x0.63%)-71 = (600,000,000& x0.63%) = + 260
© UL St FLTAM
2 (150,000,0008! x0.72%)-21Z(100,000,000% x0.9%) = 180
[eF7 A4
© 2L SH2 JHB(HE)SA
Z 7 (400,000,000 x0.72%)-71 & (300,000,000&! x0.72%) = 20
235
JIHER 24,250,204 | 24,445,720 | ~186,516
401
AlEHY R0 24,259,204 24,445,720 A 186,516
24,253,600 | 24,440,116 |  £186,516 [01 Al&H
gy
© BT L A2 LH2AZ ad £.186.516
O 2LS+HaAT W0I8+8 & SHY>
Z 3 (58,000,000€ x 141)-7H (65,856,0008 x 14]) = A7,856
O BE(AINMTH 2454 =4
Z#(135,000,0008 x 141)-71F(160,000,0008 x 141) =A25,000




2 o (200) X

A& 0 & A

!
12

MN&E & @ (230) REXLMHS Mg o (235) JIAEX = @ (401) MEHIZ SO (9] : A

i

o 5 Jl

P

2 o Ak = 2l

ol

oH
Mg BEH g e o

e

P E S EENEE
23X (55,.000,0002 x 141)}-D|H (60,760,000 x 1&l) = A5, 760

A (47,100,000 x 141)-2|1Z (55,000,000& x 141) = A7,900
QO SZ5teHel® 1,28 £330 =
ZH (120,000,000 x 141)-21 & (153,000,000 x 141) =A33,000
O SESteHaE AtR0I224y A M
ZH(38,000,0008 x 141)-71H (45,000,000& x 14l) = A7,000
C d3s=+HaE BSSd A oIS 2 Jj=Ex
213 (121,000,000 x 141)-J1F (165,000,000 x 141) =A44,000

O St NA2AAL0ISHAEEIMEH 2HER
2 3(110,000,0008 x 141)-71Z (161,000,000& x 14) =A51,000

A A (22,000,000 x 141)-71Z (46,000,0008 x 141) =A24,000

HE Mz=giX A 20X
X (57,000,000& x 141 )-D1H (76,000,000& x 141) =A19,000

GH ro

O SEa=HMEZBIHAHZAMALH B ERAINEL X

Z A (64,000,000% x 141)-7(H (70,000,0008 x 141) = 28,000
O =Zot=Ha® 26H &37 2FA0E FHLX

ZE (71,500,000 x 141)-21F(81,000,0002 x 141) = A9,500

]
g
J

SteHElE HEsdA HSHl 2 REA £

A{112,000,0008 x 1A1)-J| & (129,000,0008 x 1&) =A17,000




AN 0o & A

2 (200) HEENE 3t ¢ (230) RERNNFS HE : (235) JIHER = : (401) AAHIZRTY| =l BN
B S A gl 2 =
ol & o = o = pli =
B R o o4 ow | FIA
O sl ALNE SHAEEI 2H PHAX
207 (47,000,0008 x 141)-71H(56,500,0008 x 14) = A9,500
O 2E(ADIHTY AKX L JTBREZ BANE 34
80,000,000% x 141 = 80,000
237
20| 7B 34,350 36,500 A2,150
405
T SHIS 34,350 36,500 A2,150
34,350 36,500 22,150 |01 RatSSH

ZF(3,000,0008)-21=(3,500,0008) = A500
[AA HADH

@5t HIAE CCTVEH P

ZH (31,350,000 x 141)-71H (33,000,000 141) = A1,650




o (200) RHEEKE B @ (260) UIDISEUIKAMHS  MHE : (261) HEZOIXA 2 ¢ (401) AILHIZSOHH] (S5l : ER)
Ty = A =) = 8 _
oo = t =
a|g Wy = Ll o o o | FEN &
260
HIOIS S KA F S 25,830,000 | 25,079,000 751,000
261
2 ZOI T 05,830,000 | 25,079,000 751,000
201
NEREETY 05,155,000 | 24,404,000 751,000
25 155,000 | 24,404,000 751.000 |01 AlZH|
[Gh2=1]
® NISHLR 54BN HTALY 751,000,000% x 18! = 751,000
800
ol 1 3,475,486 3,617,961 | A142,475
801
oI 3,475,436 3.617,961 | 142,475
801
ol ] 3,475,486 3,617,961 | 142,475
3,475,486 3,617,961 142,475 | (51271}
@ OffHIHI 213 (3,475,486, 0002 )-71 = (3,617,961,0008 ) 142,475




